log AL luminance difference
threshold

+ 04 0,1s A 630cd/f hyp2

Lg=630cd/nf

——t————F 4=k — -
5 1 5 x=logL

log AL luminance difference | —
threshold Lg=630cd/nt

+ 02 0,1s B 630cd/f hyp2

= — =
-2 -1 0 1 2 X=logL

log AL luminance difference | —
threshold Lg=630cd/nt

+ AD 0,1s G 630cd/d hyp2

—————— == = — =
2 1 0 1 2 x=logL

log AL luminance difference =
threshold Lg=63cdint

+ 02 0,1s Y 63cd/f hyp2

e = —
-2 -1 0 1 2 X=logL

UE210-7A_1

UE210-7R

log AL luminance difference
threshold

+ 02 0,1s Y 630cd/f hyp2

—————— o — =
-2 -1 0 1 2 X=logL

Lg=630cd/nf

log AL luminance difference | —
threshold Lg=630cd/nf

+ 02 0,1s R 630cd/fy hyp2

_|_|—|---.|---|._:I
-3 -2 -1 0 1 2 Xx=logL
UE210-4A_1
log AL luminance difference , —
threshold L g=63cdint

+ 04 0,1s A 63cd/f hyp2

e —
-2 -1 0 1 2 X=logL

log AL luminance difference |, —
threshold Lg=63cd/nf

+ 02 0,1s B 63cd/f hyp2

o m —
-2 -1 0 1 2 x=logL

UE210-8A_1

log AL luminance difference , —
threshold Lg=63cd/nf

+ 02 0,1s R 63cd/f hyp2

log AL luminance difference -6~
threshold Lg=6.edin

+ 04 0,1s A 6,3cd/f hyp2

e peee e e = = A = = = _—|
-3 -2 -1 0 1 2 Xx=logL
UE211-3A_1

log AL luminance difference , —

threshold Lg=6.3cd/nf

+ 020,1s B 6,3cd/Ay hyp2

= e —
-2 -1 0 1 2 X=logL

log AL luminance difference |, —
threshold Lg=6.3cd/nf

+ AD 0,1s G 6,3cd/; hyp2

= o —
-2 -1 0 1 2 x=logL

UE211-7A_1

log AL luminance difference -
threshold Lg=63cdint

— AD 0,1s G 63cd/& hyp2

log AL luminance difference |, —
threshold Lg=6.3cd/nf

+ 020,1s Y 6,3cd/fy hyp2

o —— _—|
-3 -2 -1 0 1 2 X=logL
UE211-4A 1

log AL luminance difference =

threshold Lg=6.3cd/nf

+ 020,1s R 6,3cd/f hyp2

e = e —
-2 -1 0 1 2 X=logL

log AL luminance difference | —
threshold Lg 63c\d/m2

+ 04 0,1s A&G 63cd/; hyp2

e = —
-2 -1 0 1 2 X=logL

UE211-8A_1




log(L/AL) luminance contrast ,_9:6300(,m?r

sensitivity threshold
+ 040,15 A 630cd/f) hyp2

——t————F 4=k — -
5 1 5 x=logL

log(L/AL) luminance contrast | —
sensitivity threshold - 630cdinf

+ 02 0,1s B 630cd/f hyp2

= — =
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast | —
sensitivity threshold -9 630cd/nf

+ AD 0,1s G 630cd/dy hyp2

—————— == = — =
2 1 0 1 2 x=logL

log(L/AL) luminance contrast | —
sensitivity threshold -9 63cdinf

+ 02 0,1s Y 63cd/fy hyp2

e = —
-2 -1 0 1 2 X=logL

UE210-7A_2

UE210-7R

log(L/AL) luminance contrast Lg:630cd/nr?

sensitivity threshold
¢ 020,1s Y 630cd/f) hyp2

—————— o — =
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast | —
sensitivity threshold - 630cdinf

+ 02 0,1s R 630cd/fy hyp2

————— o — =
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast , —
sensitivity threshold -9 63cd/nf

+ 04 0,1s A 63cd/f hyp2

e —
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast , —
sensitivity threshold -9 63cd/nf

+ 02 0,1s B 63cd/f hyp2

o m —
-2 -1 0 1 2 x=logL

UE210-8A_2

log(L/AL) luminance contrast Lg:63cd/n12

sensitivity threshold
¢ 02 0,1s R 63cd/f hyp2

log(L/AL) luminance contrast | —
sensitivity threshold - 6. 3cdinf

+ 04 0,1s A 6,3cd/f hyp2

= e —
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast | —
sensitivity threshold -9 6.3cdinf

+ 020,1s B 6,3cd/Ay hyp2

= e —
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast | —
sensitivity threshold 9 6. 3cdinf

— AD 0,1s G 6,3cd/; hyp2

= o —
-2 -1 0 1 2 X=logL

UE211-7A_2

log(L/AL) luminance contrast ngescd,ng

sensitivity threshold
+ AD 0,1s G 63cd/y hyp2

log(L/AL) luminance contrast | —
sensitivity threshold - 6.3cdinf

+ 020,1s Y 6,3cd/fy hyp2

——t———— k- Ak ——
-3 -2 -1 0 1 2 X=logL
UE211-4A 2

log(L/AL) luminance contrast | —

sensitivity threshold -9 6.3cdinf

+ 020,1s R 6,3cd/f hyp2

e = e —
-2 -1 0 1 2 X=logL

log(L/AL) luminance contrast , —
sensitivity threshold -9 63cdinf

+ 04 0,1s A&G 63cd/; hyp2

e = —
-2 -1 0 1 2 X=logL

UE211-8A_2




L/AL luminance contrast
sensitivity threshold

407 04 0,1s A 630cd/f) hyp2

Lg=630cd/nf

30--
20--

10--

0 +——t—t— === ——— =
=3 -2 -1 0 1 2 X=logL
UE210-1A_3
L/AL luminance contrast
sensitivity threshold

407 02 0,1s B 630cd/f hyp2

Lg=630cd/nf

30--
20--

10+

(1 e ———_ s ] ey ia]
=3 2 -1 0 1 2 Xx=logL
UE210-3A_3

L/AL luminance contrast =
sensitivity threshold -9 630cd/nf

40+ AD 0,1s G 630cd/ hyp2
30 -
20 -

10t

0+ttt ——— =
=3 -2 -1 0 1 2 X=logL
UE210-5A_3
L/AL luminance contrast
sensitivity threshold

40+ 02 0,1s Y 63cd/f hyp2

Lg=63cdinf

30--
20--

10+

0 == e f—
=3 -2 -1 0 1 2 Xx=logL
UE210-7A_3

UE210-7R

L/AL luminance contrast
sensitivity threshold

40+ 02 0,1s Y 630cd/f hyp2

Lg=630cd/nf

30--

20--

————p—— == — =
03 2 1 0 1 2 xlogl
UE210-2A_3
L/AL luminance contrast
sensitivity threshold

40+ 02 0,1s R 630cd/fy hyp2

Lg=630cd/nf

30--
20--

10--

0+ttt === ——— =
=3 -2 -1 0 1 2 X=logL
UE210-4A_3
L/AL luminance contrast
sensitivity threshold

407 04 0,1s A 63cd/f hyp2

Lg=63cdint

30--
20--

10t

0+t === —
-3 -2 -1 0 1 2 X=logL
UE210-6A_3
L/AL luminance contrast
sensitivity threshold

407 02 0,1s B 63cd/f hyp2

Lg=63cdint

30--

20--

e —
%5 5 1 0 1 5 x=logL

UE210-8A_3

L/AL luminance contrast
sensitivity threshold

407 02 0,1s R 63cd/f hyp2

Lg=63cdint

30--

20--

UE211-1A 3

L/AL luminance contrast
sensitivity threshold

40+ 04 0,1s A 6,3cd/f hyp2

Lg=6.3cd/nf

30--
20--

10--

0+ttt A== —
=3 -2 -1 0 1 2 X=logL
UE211-3A_3
L/AL luminance contrast
sensitivity threshold

401 020,1s B 6,3cd/f hyp2

Lg=6.3cd/nf

30--
20--

10t

0+ttt == A== —
=3 -2 -1 0 1 2 X=logL
UE211-5A_3
L/AL luminance contrast
sensitivity threshold

40+ AD 0,1s G 6,3cd/f hyp2

Lg=6.3cd/nf

30--

20--

= e —
%5 5 1 0 1 5 x=logL

UE211-7A_3

L/AL luminance contrast
sensitivity threshold

407 AD 0,1s G 63cd/fy hyp2

Lg=63cdinf

30--

20--

UE211-2A_3

L/AL luminance contrast
sensitivity threshold

401 020,1s Y 6,3cd/fy hyp2
30--
20--

10--

0+t == = —
3 -2 -1 0 1 2 X=logL
UE211-4A_3
L/AL luminance contrast
sensitivity threshold

40+ 02 0,1s R 6,3cd/f hyp2

Lg=6.3cd/nf

30--
20--

10+

(1] o —_——_ s
3 -2 -1 0 1 2 X=logL

UE211-6A_3

L/AL luminance contrast =
sensitivity threshold -9 63cain?

407 04 0,1s A&G 63cd/fy hyp2

30--

20--

P

e

e
(0 e —_—_ s et v

2 0 1 2 Xx=logL

UE211-8A_3




T* luminance difference
threshold sum

801 04 0,1s A 630cd/f hyp2
601
401

20--

1L e ———_ s i ey i)
=3 -2 -1 0 1 2 Xx=logL
UE210-1A_4
T* luminance difference
threshold sum

801 02 0,1s B 630cd/f hyp2

Lg=630cd/nf

60--
401

20T

(1 e ———_ s ] 2o ia]
=3 -2 -1 0 1 2 Xx=logL

UE210-3A_4

T* luminance difference =
threshold sum Lg 630cd/nf

801 AD 0,1s G 630cd/f hyp2
60 -
401

20T

1 e ———_ s ] ey i)
3 2 -1 0 1 2 Xx=logL

UE210-5A_4

T* luminance difference
threshold sum

807 02 0,1s Y 63cd/f hyp2
60--
401

20T

UE210-7A_4
UE210-7R

T* luminance difference
threshold sum

80 02 0,1s Y 630cd/fy hyp2

Lg=630cd/nf

60--

401

——————F = =A== —=
%5 5 1 0 1 5 xlogL
UE210-2A_4
T* luminance difference
threshold sum

80 02 0,1s R 630cd/f) hyp2

Lg=630cd/nf

60--
401

20--

(0] . ————_ e L e
=3 -2 -1 0 1 2 X=logL
UE210-4A_4

T* luminance difference
threshold sum

801 04 0,1s A 63cd/f hyp2
60 .-

401

UE210-6A_4

T* luminance difference
threshold sum

801 02 0,1s B 63cd/f hyp2

Lg=63cdint

60--

401

e —
% % 1 0 1 5 x=logL

UE210-8A_4

T* luminance difference
threshold sum

80 02 0,1s R 63cd/f hyp2

Lg=63cdint

60--

401

UE211-1A 4

T* luminance difference
threshold sum

80 04 0,1s A 6,3cd/fy hyp2

Lg=6.3cd/nf

60--
401

20--

0+ == o f—
=3 -2 -1 0 1 2 x=logL
UE211-3A 4
T* luminance difference
threshold sum

8ot 020,1s B 6,3cd/fy hyp2

Lg=6.3cd/nf

60--
401

20t

0+ == o f—
-3 -2 -1 0 1 2 x=logL
UE211-5A_4
T* luminance difference
threshold sum

80 AD 0,1s G 6,3cd/f hyp2

Lg=6.3cd/nf

60--

401

= e —
% % 1 0 1 5 x=logL

UE211-7A_4

T* luminance difference
threshold sum

80 AD 0,1s G 63cd/ify hyp2

Lg=63cdinf

60T

401

UE211-2A_4

T* luminance difference
threshold sum

8ot 020,1sY 6,3cd/fy hyp2
60--
40t

20--

(1] e —_———_ e
=3 -2 -1 0 1 2 x=logL
UE211-4A 4
T* luminance difference
threshold sum

80 02 0,1s R 6,3cd/f hyp2

Lg=6.3cd/nf

60--
401

20T

(1] . —_———_ e
=3 -2 -1 0 1 2 X=logL
UE211-6A_4

T* luminance difference
threshold sum Lg 63cdinf

801 04 0,1s A&G 63cd/rf hyp;

60--

401

UE211-8A_4




